
EKSPONENCIJALNA FUNKCIJA, JEDNA^INE I NEJEDNA^INE

22.04.2017. godine

1. Re{iti jedna~ine

(a) 7x
2−x−3 = 343; (b) 2

x+1
x ·

(
1

2

)x+1

= 1;

(v) 4x+1 + 4x = 320; (g) 16 · 3x = 81 · 2x.
2. Re{iti jedna~ine

(a) 3 · 16x + 2 · 81x = 5 · 36x; (b) 4x + 4x+1 + 4x+2 = 7x+1 − 7x−1;

(v) 4x − 3x−
1
2 = 3x+

1
2 − 22x−1; (g) 9x − 2x+

1
2 = 2x+

7
2 − 32x−1.

3. Re{iti jedna~inu 4x+
√
x2−2 − 5 · 2x−1+

√
x2−2 = 6.

4. Re{iti jedna~ine

(a)

(√
2−

√
3

)x

+

(√
2 +

√
3

)x

= 4; (b)
(
3 + 2

√
2
)x2−2x+1

+
(
3− 2

√
2
)x2−2x+1

= 6.

5. Re{iti jedna~ine

(a) 23x−2 − 23x−3 − 23x−4 = 4; (b) (2x)3 − 7

2
· (2x)2 + 7

2
· 2x − 1 = 0.

6. Re{iti nejedna~ine

(a) 57x+3 > 5−3; (b) 3x
2−4x−5 6 1; (v)

(
1

3

)√
x+2

> 3−x.

7. Re{iti nejedna~ine

(a) 52x − 5x+1 + 5 > 5x+1 − 20; (b)
1

22x + 3
> 1

2x+2 − 1
.

8. Re{iti nejedna~ine

(a) 24x+2 · 4−x2 − 3 · 22+2x−x2

+ 8 6 0; (b) 2x+2 − 2x+3 − 2x+4 > 5x+1 − 5x+2.

9. Re{iti nejedna~ine

(a)

(√
4 +

√
15

)x

+

(√
4−

√
15

)x

6 62; (b)

√(
5 + 2

√
6
)2x

+

√(
5− 2

√
6
)2x

6 98.

10. Re{iti sisteme jedna~ina

(a)

{
5 · 3x − 2y = 11,

7 · 3x + 5 · 2y = 41;
(b)

{
3x − 2y

2
= 77,

3
x
2 − 2

y2

2 = 7.

11. Neka su (x1, y1), (x2, y2), . . . , (xn, yn), sva, me|usobno razli~ita, realna re{ewa sistema{
y2 = 4x+1 + 8,
4 · 2x + y = −1.

Odrediti zbir

n∑
k=1

(xk + yk).


